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1. FR0(0,0) & 2 5 A(—1,4), B(2,—1) IZDOWTRERD X.

(1) 2 5.0, A Dl OA (2) 2 5.0, B Ol OB (3) 2 5L A, B Ol AB

. 28 A(2,3), B4, —3) ITOWTRDHDPEFEE KD XK.
(1) 2 mD OEHECH 2 vl LD P (2) 2 M HFEHICH 2 y I LD Q

(3) 2 L FHHICHZER Yy =2 LD R(a,a)  (4) 2E»LFHHCH I ERy = —x LD S(D,

FA2,-3), B(4,—1) KDOWTRD M DFEEFEZE KD XK.

u)ﬁ%A BZ5:1ICNTTHRP (2) T AB % 3: 21N T 55 Q
(3) #7 AB % 1:4 12T 55 R (4) ##97 AB OHE M

CRD3REERE T2 =AFOELDOMEREZRD K.
(1) A(37 _2)7 B(4a _1)7 C(2a0) (2) A(_17 _5)? B(3a _2)7 C(la _2)

(3) A(4,2), B(0,-1), C(2,2) (4) A(-5,1), B(3,-2), C(4,-1)

CRDIFA B, G E Ca,y) ICOWT AABCOELN G TH B L X 2,y DIEZRD X.
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